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The United Nations Framework Convention on Climate Change* was created to produce the first international
agreement on reducing global greenhouse gas emissions. However, this task is not as simple as it first appears, as
carbon dioxide (CO2) emissions are not evenly produced by countries. The first major source of carbon dioxide is the
burning of fossil fuels, such as coal, gas, and oil, since a major part of carbon dioxide emissions comes from energy
production, industrial processes, and transport. These are not evenly distributed around the world because of the
unequal distribution of industry; therefore, any agreement would affect certain countries’ economies more than others.
Consequently, at the moment, the industrialized countries must take the main responsibility for reducing emissions of
carbon dioxide (see Figure A). North America, Europe, and Asia emit over 90% of the global industrially produced

carbon dioxide. Moreover, historically they have emitted much more than the less-developed countries.
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The United Nations Framework Convention on Climate Change* was created to produce

the first international agreement on reducing global greenhouse gas emissions.

@ #Ds&: HAZE - create/ produce / international / agreement / reduce / global / greenhouse gas / emission
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The United Nations Framework Convention on Climate Change* / was created / to produce the
first international agreement /on reducing global greenhouse gas emissions. / However, / this task is not as
simple as it first appears /, as carbon dioxide (CO2) emissions are not evenly produced by countries. / The
first major source of carbon dioxide is the burning of fossil fuels, / such as coal, gas, and oil, / since a
major part of carbon dioxide emissions comes [/ from energy production, industrial processes, and
transport. / These are not evenly distributed around the world / because of the unequal distribution of
industry /; therefore, / any agreement would affect certain countries’ economies more than others. /
Consequently, / at the moment, / the industrialized countries must take the main responsibility for
reducing emissions of carbon dioxide / (see Figure A). / North America, Europe, and Asia / emit over 90%
of the global industrially produced carbon dioxide. / Moreover, / historically / they have emitted much

more than the less-developed countries. /
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®The United Nations Framework Convention on Climate Change* was created to produce the first international agreement on
reducing global greenhouse gas emissions.

@However, this task is not as simple as it first appears, as carbon dioxide (CO2) emissions are not evenly produced by countries.

®The first major source of carbon dioxide is the burning of fossil fuels, such as coal, gas, and oil, since a major part of carbon
dioxide emissions comes from energy production, industrial processes, and transport.

®These are not evenly distributed around the world because of the unequal distribution of industry;
®therefore, any agreement would affect certain countries’ economies more than others.

®Consequently, at the moment, the industrialized countries must take the main responsibility for reducing emissions of carbon
dioxide (see Figure A).

DNorth America, Europe, and Asia emit over 90% of the global industrially produced carbon dioxide.

®Moreover, historically they have emitted much more than the less-developed countries.
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